
Vocas top plate for RED RAPTOR camera

0350-5100
Version Date: 06/03/2023 11:59

Vocas Products info@vocas.com vocas.com Page: 1/1

Item No. Part Number Qty Description
1 11.406.01 1 Top plate RED Raptor

2 11.110.01 1 Screw M3X4 DIN912 A2 70

3 07.206.01 2 Screw M2 X3 ISO7048-4.8znZ

4 11.176.01 1 Spirit level 8x20

5 01.052.01 2 Ring DIN125 A2,2 140V Zn

6 11.297.01 1 Handgrip dove tail lock cover

7 744003 2 Screw M2X5 DIN965 4.8 ZN Z

8 11.298.01 1 Handgrip dove tail lock

9 11.259.01 1 spring 2.9x13 C93

10 11.210.01 4 Screw UNC 1/4"X 1/2" C1936 A2

11 05.226.02 4 O ring 4x2

12 09.061.01 1 Hex. key 3/16" 4,76mm. Unbrako DIN ...

10 212 1

8

9

6

7

4

5

3

11


